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data data -
MAX_INPUT
n
i++
v
end
3.2
int factorial(int n)
n int
int n
factorial n i




1:

2:

3:

4:

5:

6:

7:

8:

9:
10:
11:
12:
13:
14:
15:
16:
17:
18:
19:
20:
21:
22:
23:
24:
25:
26:
27:
28:
29:
30:
31:
32:
33:
34:
35:
36:
37:
38:
39:

#include <stdio.h>

Vi HkKk

#define MAX_INPUT 3 //

/
n

B i 4

int factorial(int n)

{
if (n>0 {
return n * factorial(h - 1);
} else {
return 1;
}
¥
v
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int main(void)

{
int data; //
int i; //
for (i = 0; i < MAX_INPUT; i++) {
//
printf("[ %d 1 .0+ 1);
scanf('%d", &data);
//
if (data > 0) {
printf(” %d! = %d¥n', data, factorial(data));
} else {
printf(“error: ¥n'");
¥
return O;
r
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#include <stdio.h>
int factorial(int n)
éf (n>0) {

} else {

return 1;

int main(void)

int data;
int i;

T else {

printf(“error:

return n * factorial(n - 1);

for (i = 0; i < bbbb; i++) {

printf("[ %d 1 i+ 1);
scanf("'%d", &data);
[if (data > 0) {
printf(” %d! = %d¥n', data, factorial(data));

[1
13!=1,932,053,504
2
3
1
[1 ]
121 = 479001600
[2 ]
131 = 1932053504
[3 ]

error:

MAX_INPUT (=3 )
1 12 1= 479,001,600 [2
6,227,020,800
[3 1

12

13




[1 1 3.5
31 =6
[ 2 1 31 =6
[3 1 31 =6
3
[1 1 a
error:
[ 2 1 error:
[3 1 error:
6.
13 [ R P
int int
231 1 2,147,483,647 13!( 6,227,020,800)
12!
factorial
m
7. e )
8.

[2] )
°o
[1] http://yougo.ascii24.com/gh/19/001982.html
[2] “ C 1 7? pp.194-197
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